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Zupglh nuunigps

unphnipy Eup mwjhu wnwewunpuputipp junwpl) pun htippuljuinipui:
Nupwnhp upnugk p jnipupwisnip wnwewnpuip: Gpk sh hwennynud nplik wnwewnpuiph

widhowytu  wwunwupwut), dwdwbwlp pbuwbnt tywunwlnd Jupnn Gp npub

winpununiw] wykh niy:
PEun-gppnylh kokph nunnupl dwukpp Juwpnng kp oqunugnpdly uliugpnipyub

hunfwuip:



Puywh u k Ynsynud snp pinphsny wunnpuunws pdnpp: (7 whunjnp)
1) hwdbnniu
2) ppytgpud

3) thjupniu
4) wupq

Sunjuph dubnhphg nmuwuldwi hunfup oquuuqnpsnid k' (7 wpunjnp)

1) wqnph Ynnph djuip
2) Ypdpwdhup

3) dbtigph kplup dfjuip
4) Jquuihup

Spywd fruginbph wkuuljitbphg 0 pp sk poyunpdnd oguugnpsdt) npnduws
wwwnpwunbint hwdwp: (7 dhun/np)

1) Enlunt
2) puybkunt
3) udnpkunt
4) Jununt

bty bquiulny £ junhwipupp hpuwljuwtuginid nunkunbtph junnwiunpnonidp:
(1 Jpur/ap)
1) hunphppuwwndulut
2) opquunjbuwnhy
3) ppYwjunipjub swhdwb
4) jwpnpunnp

Qbpuuht Upwldwh n'p byl E Yhpungmd dpbppubpp popnp Yagdkphg
hujwuwpwsuth Yinbwwwnbine hwdwp: (7 dhunj/np)
1) uwni-yhpny

2) phunudny
3) wnwuyuwlnidnyg

4) awonuuny



Qtpuuyht Upwldwi hpfulwh Abh n’p byutrarlh £ fhpungnd dhugh oks
Junpny dubp yuwnpwunbint hwdwp: (7 dha/np)

1) huwpdwt hhdtwlwh

2) $ph

3) pwidpwhiwrdwi /pudtiny
4) pphqbpwynpdui

Lwith” dh mith obpuught dpwlynudp: (7 punjnp)

1) Epynt
2) wwutihhuq
3) wmwulynp
4) tpkp

Fhajuspwdwotip yunpuwuwnbjnt hwdwp oquugnpéynn pmdhtiught pugut
wtwp b huh (7 dpunp)

1) sdwlignnynn ynnujunhg

2) snigniihg (pnighg)

3) twhmybu Swpyuyunygws b Jput ywupuhdwn guudws
4) Lupuh htinn thwuht juy mwpwugyud

‘Lojwdubkphg n pi Euindwnughb pubgwpbnbi:

1) Qulwy wnubnp
2) ququpp
3) nnuhyp
4) ghwntwjutdnpp

bugh’ Ukg E hpuljubugymu ynghhaugnuip:

1) dkd Jupuuyh

2) pnuph

3) onglith /qninpowitih/ jupuugh
4) wjunljuygh



B £ ynsynud uygh obpuughn Wpwlynuidp, nph hurdup Yhpumynid kb oph htigmyy b
ququhtt yh&wiljubpp: (7 dfpunfop)
1) nmwwyuynud
2) hawpnud

3) phunud
4) hwdwlgnid

ﬂnp JEpuypunbtuwljutph hdpht B yunjuwiunid wnuunbkpp:
1) hhdtwlwut
2) uwnp

3) pungp
4) wnup

Pusuyk u b puuwljupgoud dubpp wujuph dubnhph dwuiunnidhg htnn:
(1 dpufnp)
1) Ynow, nwthwl b opuih
2) pwg bt Uniq gnyjuh
3) dwpuwuwyht b Smpyuqbkpddus
4) L IIuIII jupgkp

B gl £ hwinhuwbmy gbpuim pyut thnjuwnphs gbpuundywlynng Gl
nwpwdnipjul uwppuynpdw uky: (7 dhun/np)
1) wmwp nkup
2) ohwugwé wénijuubtpp

3) 2hljugus onp
4) wnwpugus Lupyp

Puywh u ki jupmu nuwyuwldwi hudwp tujeunbujws dubpp: (7 dpujop)

1) otnuyh
2) hunpwtwpnwdl jud nipnuulnit
3) djwuuyht hjnrugwspubiphtt ninnuhwjug

4) tpjuybwlh



Uwniplikpp, pun dunnigdwh gbpdwunhgwih, nuuwupgqynud G (7 dhwnp)
1) wwp b uwnp
2) tndwb b uwunp
3) uwnp b gng
4) gn] b wunkgdwsd

Zpltuwh nunbunh hbn dunmgymud ki hbnlyw) jwdupaibpp (7 dpayap)

1) wuwpq fud puipy
2) htown jmipwugynn
3) pwulbwnuwght

4) dhuyu mwp

Nppw 't k£ 1 gpuud &wipugh joipugmufhg unwmgnn Fubpglnhly wipdbpp:
(1 dpunjnp)

1) 10,7 4/yuy
2) 9,3 §/juy
3) 4,14/juy
4) 6,14/fjuy

N pb Eudbbwwuyni Jpowdhip: (7 dpunjnp)
1) D
2) A
3) E
4 C

Npb b hhdiwljwi tnup mnkunh dunmgdwh shpdwunh&wip: (7 dpunjop)

1) 51-56
2) 32-45
3) 60-65
4) 85-90



& pp bt wljughnud wyp $ph Enwibunyg weygwlgng upnndht: (7 dpayap)

1) obpdwdowlnidp wjwpunbkinig 5 pnyk wnwy
2) obpdwdrwljdw pipugpnid

3) obpUdwdrwlniudp wjwpunkinig hitnn

4) dhtsl obpdwdpwlynidp uljubkyp

N°pl E oph bl gbpuwunh&wip uinhlh uywb 760U guodwh plupnud:
(1 dfurjap)

1) 105
2) 80
3) 100
4) 97

N0°p ot E hwdwpdmd ghtanhly: (7 dpunnp)

1) wpunwunpnipjut yuwhhg dhsh 15 op
2) wpununpnipjub yuwhhg dhtsh 9 op
3) wpununpnipjub yuwhhg dvhtsh 13 op
4) wpununpnipjut yuwhhg dhsh 7 op

Pusuyk u E withhpwdbow k awply opquinuljwi pentikp wpupniiwlnn Juib
pwbowntntubpn: (7 Jpw/np)
1) owwn pwtiwljh nidght Enwgnn wnweopnid
2) wnwig tnh

3) gpuyht punthpnud
4) pny) knh wuydwubpnid

Opput whwp  (hith wyyniph puquuht et npgoctp: (7 dpasgnp)

1) 12.5%
2) 14.5%
3) 15.3%
4) 11.1%



Otpuuyht Upwlwi n’p byuinalh E jhpumdma inghlp Yhnlwqbpsknt hudup:
(1 dpunp)

1) Engpdwt

2) uwngdwt

3) pwtdpwiwrdwi (nudkn)
4) nwwyuldwb hhdtwljuh

0'pb E Swpwyuyminn Jhnwdhbp: (7 dpurjnp)

1) B12
2) PP
3) K
4) C

N°pl k gbpuiught dpwldwh Ynuphtugyws tywbwlyp: (7 dpuargnp)

1) pwbdpwpwonidp
2) dwpuubnpnudp
3) gpuypt punuhpp
4) ongkhiwpnuup

Bty wn whnp k oqunugnpéty anhwpupuljwh tuuwwnwyny: (7 dpaninp)

1) thwphunwght
2) sinpugdud
3) Shukgud
4) hwdbdqusd

Funhwpupp hiswh u yhwnp Eyunnpuunh nunkunp hwbnpught uibigh
dintwnpynipynimd: (7 dhun/np)
1) ujupht hwdwywunwupwt
2) Yuynipjughuyhtt hwdwywnwuhiub
3) wkhunnghwljwt pupnhtt hwdwywnwuhiwt
4) hhonnnipjudp



Spqwistikphg 3-p wwwpwwwnnuyhl pubguptnkutbp b Lok gubg
hwdwpubpp: (3 dhur/np)

Junudp
Quipundhy
wuwuwnbpbuly
nuhy
ghintiwjutidnp
ququp

putnun

NS U ke W=

Spwéhitphg 3-p umnUnhwqghikph pvwthphtt yunljuwing dyukp G
‘Lot npuiig hwdwpubpp: (3 Jpunp)

punuth
Jupupwhiwgn
odwdntl
hohuw

|npn

pnLuw

JtEwnw

NS Uk W=

Spywstubtphg 3-p dubphg wunpwuwnynn puuljwt jhuwpwpphjuntitnh
wnbuwljubp B Uoky npuitig hwdwpubpn: 3 vhw/np)

pwudhuwghtt unputpny

UkS Junpubtipny

hjnipwh b opuigplpfws

pnt)| wnunpjus

thnpp junpubpny

Jinp b punwlyniup

now bt thwthnily

N o s W=



Spywsubtphg 3-p wunnuyht pmbgwpbntuubp Gu: Lok Hpug hwdwpukpp:
(3 dpurjnp)

puiqnily
qnihu unju
udpnily
pnny
n1hy
wwwnhunb

NSV ke W=

gunquil

Znlyu| uwngpus Yhuwpupphljunntibphg 3-p Yupbih b ghpiudull) wowbg
huy kgubnt: Lok npung hwdwputpp: (3 Jhw/np)

Supyubkndws pwbgwptnkuutpp
wdpnnowljwt nnnidp

Jupunguws b tnopydws Jupunndhip
UkS Junpny vhup

wdpnnowljut dnilyp

Quitiwy nphlu

wudpnnowljut hwyp

NSV ke W=

Spyws wjunmidutnhg 3-p &hown b Lok npung hwdwnpubpp: (3 vpw/np)

1. Ququph gnitwynpnn tkpluiynipp Ynsynid E npputs jupdhp:

2. Zujjulwl junhwtngh hhdtwjut wpwtdutwhwwnlnipniuutphg k unjugh
unniuh Jhpwnnipniip:

3. Zuwjjulwl junhwingnid niinbunh wuduunip punid £ ppu yyuwnpuundut
nkjutininghwyhg:

4. Iunhwpwph hhdtwlwb gnpshputpt G hp 5 qquyupwutbpp:

5. Ghuwdwpphjunttpp yunpuunynd kbt nuinbunh nhwpupuju
Jtpotwjut dpwljuwt thnyynud:

6. Uwpnnt 1 opdu Jhuuwgnpéniubinipjut hwdwp wthpwdbtown utintunp
nsynid k wp:

7. Unguitbpp yuunljuwind Gt vwep YEpuljpunbuwlutph jadpht:



Spywsubtphg 3-p huyljuwh hmgunbtuwlubp Eu: Lok ngpuing hwdwpukpp:
(3 dfpunp)

NS e W=

poup

il
pwwnni
pughun
wniph

2np
popnnhiyuib

Npnup b yunpuwunh mnbunh dunmgnidhg wewe hpwljwinugynn
hhdtwjut gnpénnnipjniuubpp: Lok npuug hwdwpubpp: 3 dhw/np)

1.

NSk W

hunhwpwpwljuwb twptwui dpwlnid

Jupuwh b mwuyuljh thuy gnid
hunhwpwpwlju yepotwju Upwlnid
wupktwyhtt wypwuputph (Jugnid
wnuwhwdbunitipuyhtt ppuntunipnh ywwnpuwuwnnd
wupktwyhtt wypwuputph qunid

otinngh twpiwwwwnpuuwnnid

Spywsutphg 3-p muwuljdw hwdwp oquugnpdynn thwl mupwsnipniiukp tu:
Lok npuitg hwdwinpubpp: (3 Jpunfnp)

N oV s W=

thninp

ongtlntyklghnt otinngp
winnyjunjp

huwuntmgdwt okpduywhwpunp
Juthwuphsny dwsldws pudu
unynpuljub oinngp

Juthwphsny dwsldws jupuw
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Uwniplitpp puuwljupgynud kb pun npduistiiphg 3-h: Lok npuiig hudwnpbpn:
(3 dpurjnp)

qnijutph

wnipubph pnqudnipjui
wuwwnpwuwndwb duh

dubph mbuwlubkph

hniyh hpuph
putigwptntwht judpkph
dwunnigdw obpdwunhgwith

NSk W=

11



